Factoring ax?+ bx +c whena> 1
Box Method - Factoring the GCF

1) Look to factor out a GCF from all terms whenever possible.
2) Multiply "a" and "c" terms and find the factors that sum to the "b" term
(exact same process as equations where a=1)
3) Create a "2x2 Box"
"a" term is in the upper left
“b“ factors are in the upper right and lower left
"c" term is in the lower right
4) Fan:tnr out the GCF from each column and row; place the number/variable
on the outside of the box using the +/- sign closest to the outside edge of the

box
5) The numbers on the outside of the box is the factoring (parentheses)



Use the Box Method to factor 3x¢-2x-5
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Use the Box Method to factor 6x¢ - 19x + 15
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Use the Box Method to factor 6x% + -19x + 15

ac= 6(15)= 90 2 _ 3
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Use the Box Method to factor 7x¢ + 11x - 30




Use the Box Method to factor 7x¢ + 11x - 30

ac = 7(-30)=-210
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It doesn't matter if the factors switch
spots within the box. The factoring
is not changed.



Use the Box Method to factor 7x¢ + 11x - 30
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